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Attempt any five questions.
All questions carry equal marks.
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1. (a) State the factors responsible for shifts in the supply
curve. Illustrate your answer with examples. (5)

(b) What is the equilibrium market price and quantity
if demand and supply curve are as follows :
Demand: P = 100 - 2q
Supply : P = 16 + 5q | %)

(¢) Distinguish between price elasticity of demand and
income elasticity of demand. )

(m)iﬁw%ﬁam%mﬁmlmmaﬁ
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16 + 5q
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2. (a) What is production possibility curve ? Why does it
slope downwards to the right ? How is it related

to economic growth ?. ’ (10)

(b) Draw supply curve showing elasticity of supply
(1) equal to one (ii) greater than one (iii) less than
one. (5)

() I WG o A T F G B P TR qHA
W A AR T B R 7 uE el Rww ¥ B
i 2 7

(@) 9 =% dite @ 7fd A 9= (i) T @ W 2 (ii)
T A il 2 (iii) TE ¥ wW 2

3. What are the assumptions of the Indifference Curve
Analysis 7 Explain consumer’s equilibrium with the
help of indifference curves. How does equilibrium

change with a change in consumer’s income ?
(5,5,5)
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4. (a) Explain the law of variable proportion through the
behaviour of both total product and marginal

product curves. (10)

(b) Does marginall cost always fall when average
cost in decreasing ? Explain with the help of
diagram. (5)

(%) Fw I 3R QT IR T% A WA BR aRaE
Fure o Y awEey |
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5. (a) Explain the firm’s equilibrium with the help of

isoquants and isocost line, : (7.5)

(b) Distinguish between returns to scale and Returns

to a variable factor. (7.5)

(%) ¥ Jee @1 R WA AW @0 A qEEE § B O
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6. Define monopoly. How is the price determined under
monopoly ? Does a monopolist always earn abnormal

profits ? Give reason in support of your answer, .

(15)
R ) TR AR | TR ¥ e o R
TR B § 7 T Cei €3 e o St e
27 3R IW B v ¥ FRor AR 1 ‘

7. What are the main features of oligopoly ? Why is
equilibrium under oligopoly unstable ? (15)

R N e ARvad = 2 7 sefEr @ sl
IIeT IR A war 8 7
8. Writé short notes on any two of the following :
(a) Features of perfect competition
(b) Cross elasticity of demand
(c) Marginal utility Curve

(d) Public Goods (7.5+1.5)
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